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2013年秋季模块一修习考试参考答案
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×1,2)eq 2\s\up7(－)
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×1,2)eq 2\s\up7(－)
－eq \f(10,2－\r(3))＋eq \r(300)＋2＝－12.
                                              …………12分
17. 解：(1)∵f(x)是R上的奇函数，∴f(0)＝a＋eq \f(1,2)＝0，∴a＝－eq \f(1,2)．…3分
(2)∵f(x)＝－eq \f(1,2)＋eq \f(1,4x＋1)，∵4x＞0，∴4x＋1＞1，
∴0＜eq \f(1,4x＋1)＜1，∴－eq \f(1,2)＜－eq \f(1,2)＋eq \f(1,4x＋1)＜eq \f(1,2)，
∴f(x)值域为(－eq \f(1,2)，eq \f(1,2))．…………8分
(3)任取x1，x2∈R，且x1＜x2，则f(x1)－f(x2)＝eq \f(1,4x1＋1)－eq \f(1,4x2＋1)＝eq \f(4x2－4x1,( 4x1＋1)( 4x2＋1))
∵x1＜x2，∴4x2－4x1＞0，∴f(x1)－f(x2)＞0
∴f(x1)＞f(x2)，∴f(x)在R内单调递减．…………12分
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